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QUESTION 1

ServletContextListeners are invoked in 

A. Random order 

B. contextInitialized and contextDestroyed are invoked in the order in which they are declared in the web.xml 

C. contextInitialized method are invoked in the order in which they are declared in the web.xml and the
contextDestroyed method is invoked in the reverse order in which they are declared in the web.xml 

D. contextInitialized and contextDestroyed are invoked in the reverse order of which they are declared in the web.xml 

Correct Answer: C 

public interface ServletContextListener extends java.util.EventListener Interface for receiving notification events about
ServletContext lifecycle changes. 

In order to receive these notification events, the implementation class must be either declared in the deployment
descriptor of the web application, annotated with WebListener, or registered via one of the addListener methods defined
on ServletContext. 

Implementations of this interface are invoked at their contextInitialized(javax.servlet.ServletContextEvent) method in the
order in which they have been declared, and at their contextDestroyed (javax.servlet.ServletContextEvent) method in
reverse order. 

 

QUESTION 2

In a jsp-centric shopping cart application cart application to move a client\\'s home address of Customer object into the
shipping address of the order object. The address data is stored in a value object class called Address with properties
for: street address, city, province, country, and postal code. 

Which two code snippets can be used to accomplish this goal? 

A.  

B.  

C.  

D.  

E.  

F.  

Correct Answer: BE 

 

QUESTION 3

A Client wants to retrieve a representation of a resource, for example an HTML page, allowing a cached version to be
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returning by an intermediary such a proxy server. Which HTTP method should it use? 

A. GET 

B. PUT 

C. POST 

D. DELETE 

Correct Answer: A 

The first version of the HTTP protocol had only one method, namely GET, which would request a page from a server.
The response from the server was always an HTML page 

 

QUESTION 4

Which method must be used to encode a URL passed as an argument to HttpServletResponse. sendRedirect when
using URL rewriting for session tracking? 

A. ServletResponse.encodeURL 

B. HttpServletResponse.encodeURL 

C. ServletResponse.encodeRedirectURL 

D. HttpServletResponse.encodeRedirectURL 

Correct Answer: D 

 

QUESTION 5

Given an EL function declared with: 

Which two are true? (Choose two) 

A. The function method must have the signature: public String spin(). 

B. The method must be mapped to the logical name "spin" in the web.xml file. 

C. The function method must have the signature: public String spinIt(). 
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D. The function method must have the signature: public static String spin(). 

E. The function method must have the signature: public static String spinIt(). 

F. The function class must be named Spinner, and must be in the package com.example. 

Correct Answer: EF 
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